



$-\infty$ $+\infty$

-
-1
-2
-3
-4

|| :

$$f(x) = x^2 : \mathbb{R}$$

$$f(x) \quad x$$

$$\lim_{x \rightarrow +\infty} (x^2) = +\infty : \lim_{x \rightarrow +\infty} x \mapsto f(x) = +\infty$$

$$\lim_{x \rightarrow -\infty} (x^2) = +\infty : \lim_{x \rightarrow -\infty} x \mapsto f(x) = +\infty :$$

||

$$f(x) = x^3 : \mathbb{R}$$

$$f(x) \quad]0, +\infty[\quad x$$

$$f(x) \quad]-\infty, 0[\quad x$$

$$\lim_{x \rightarrow +\infty} (x^3) = +\infty : \lim_{x \rightarrow +\infty} x \mapsto f(x) = +\infty$$

$$\lim_{x \rightarrow -\infty} (x^3) = -\infty : \lim_{x \rightarrow -\infty} x \mapsto f(x) = -\infty :$$

• •

$$f(x) = \frac{1}{x} : \mathbb{R} - \{0\}$$

$(\vec{0}, \vec{I}, \vec{J})$

$-\infty \quad +\infty$

•

$$0 \quad \frac{1}{x} \quad]0, +\infty[\quad x$$

$$0 \quad \frac{1}{x} \quad 0[]-\infty, \quad x$$

:

$+\infty \quad x \quad 0 \quad x \mapsto \frac{1}{x}$

$\lim_{x \mapsto +\infty} \left(\frac{1}{x}\right) = 0 : \quad \lim_{+\infty} x \mapsto f(x) = 0 :$

$-\infty \quad x \quad 0 \quad x \mapsto \frac{1}{x}$

$\lim_{x \mapsto -\infty} \left(\frac{1}{x}\right) = 0 : \quad \lim_{-\infty} x \mapsto f(x) = 0 :$

•

:

X	-0.1	-0.01	-0.001	-0.0001	-0.00001
$\frac{1}{x}$	-10	-100	-1000	-10000	-100000
X	0.00001	0.0001	0.001	0.01	0.1
$\frac{1}{x}$	100000	10000	1000	100	10

$$0 \quad x \mapsto \frac{1}{x}$$

$$\begin{array}{l}
 \cdot \quad \frac{1}{x} \quad]0, +\infty[\\
 0 \quad x \quad \frac{1}{x} \\
 : \quad \cdot \quad \frac{1}{x} \quad]-\infty, 0[
 \end{array}$$

$$\begin{array}{l}
 0 \quad +\infty \quad x \mapsto \frac{1}{x} \\
 0 \quad (\quad) \quad x \quad +\infty \quad \frac{1}{x} : \\
 : \\
 \lim_{x \mapsto 0} \left(\frac{1}{x} \right) = +\infty \\
 \rangle
 \end{array}$$

$$\begin{array}{l}
 0 \quad -\infty \quad x \mapsto \frac{1}{x} \\
 0 \quad (\quad) \quad x \quad -\infty \quad \frac{1}{x} : \\
 : \\
 \lim_{x \mapsto 0} \left(\frac{1}{x} \right) = +\infty \\
 \langle
 \end{array}$$

$$f'(x) = -\frac{1}{x^2} : \mathbb{R} - \{0\} \quad x$$

$$-\frac{1}{x^2} < 0 : \mathbb{R} - \{0\} \quad x \quad :$$

$$f'(x) < 0 : \mathbb{R} - \{0\} \quad x \quad :$$

$$]0, +\infty[\quad]-\infty, 0[: \quad f \quad :$$

f

x	- ∞	0	+ ∞
f'(x)	-		-
f(x)	0 ↘ -∞		+ ∞ ↘ 0

-∞ +∞

$$f(x) = 2x^3 - x^2 + 3x - 1 : \quad f$$

-∞ +∞ f

$$\lim_{x \rightarrow -\infty} (2x^3 - x^2 + 3x - 1) = \lim_{x \rightarrow -\infty} x^3 \left(2 - \frac{1}{x} + \frac{3}{x^2} - \frac{1}{x^3} \right)$$

$$\lim_{x \rightarrow -\infty} x^3 = -\infty : \quad :$$

$$\lim_{x \rightarrow -\infty} \left(-\frac{1}{x}\right) = \lim_{x \rightarrow -\infty} \left(\frac{3}{x^2}\right) = \lim_{x \rightarrow -\infty} \left(-\frac{1}{x^3}\right) = 0$$

$$\lim_{x \rightarrow -\infty} \left(2 - \frac{1}{x} + \frac{3}{x^2} - \frac{1}{x^3} \right) = 2 : \quad :$$

$$\lim_{x \rightarrow -\infty} x^3 \left(2 - \frac{1}{x} + \frac{3}{x^2} - \frac{1}{x^3} \right) = -\infty$$

جميع الحقوق محفوظة ©

$$\lim_{x \rightarrow -\infty} (2x^3 - x^2 + 3x - 1) = \lim_{x \rightarrow -\infty} (2x^3) \quad : \quad *$$

$$\lim_{x \rightarrow +\infty} (2x^3 - x^2 + 3x - 1) = \lim_{x \rightarrow +\infty} (2x^3)$$

$$\lim_{x \rightarrow -\infty} f(x) = -\infty$$

: IR

f

| $a_n \neq 0$ $f(x) = a_n x^n + a_{n-1} x^{n-1} + a_{n-2} x^{n-2} + \dots + a_1 x + a_0$

$$\lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} x^n \left(a_n + \frac{a_{n-1}}{x} + \frac{a_{n-2}}{x^2} + \dots + \frac{a_0}{x^n} \right)$$

$$\lim_{x \rightarrow +\infty} \left(\frac{a_{n-1}}{x} \right) = \lim_{x \rightarrow +\infty} \left(\frac{a_{n-2}}{x^2} \right) = \dots = \lim_{x \rightarrow +\infty} \left(\frac{a_0}{x^n} \right) = 0$$

$$\lim_{x \rightarrow +\infty} x^n \left(a_n + \frac{a_{n-1}}{x} + \frac{a_{n-2}}{x^2} + \dots + \frac{a_1}{x^{n-1}} + \frac{a_0}{x^n} \right)$$

$$\lim_{x \rightarrow +\infty} (a_n x^n)$$

: a_n

$$\lim_{x \rightarrow +\infty} (a_n x^n) = +\infty \quad : \quad a_n > 0$$

$$\lim_{x \rightarrow +\infty} (a_n x^n) = -\infty \quad : \quad a_n < 0$$

$$x \rightarrow -\infty$$

$$\lim_{x \rightarrow +\infty} (2x^2 - x + 1) = \lim_{x \rightarrow +\infty} (2x^2) = +\infty \quad :$$

$$\lim_{x \rightarrow -\infty} (2x^2 - x + 1) = \lim_{x \rightarrow -\infty} (2x^2) = +\infty \quad :$$

$$f(x) = -x^3 + 2x - 3 \quad (2)$$

$$\lim_{x \rightarrow -\infty} f(x) = \lim_{x \rightarrow -\infty} (-x^3 + 2x - 3) = \lim_{x \rightarrow -\infty} (-x^3) = +\infty \quad :$$

$$\lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} (-x^3 + 2x - 3) = \lim_{x \rightarrow +\infty} (-x^3) = -\infty$$

$$f(x) = 3x^3 + x^2 + 4 \quad (3)$$

$$\lim_{x \rightarrow -\infty} f(x) = \lim_{x \rightarrow -\infty} (3x^3 + x^2 + 4) = \lim_{x \rightarrow -\infty} (3x^3) = -\infty$$

$$\lim_{x \rightarrow +\infty} f(x) = \lim_{x \rightarrow +\infty} (3x^3 + x^2 + 4) = \lim_{x \rightarrow +\infty} (3x^3) = +\infty$$